SILVERQUICKEN SUMMER PUZZLE #1 SOLUTION

#SUMMERSHERE

x|+ | 6x3+1=19->§

3->C
] 8 >H
x| ]+ 7x2+1=15-0
x - 8x2-1=15->0
+ 6+6=12->1L
+| +_ | 949+1=19-§

x|+ 7x2+1=15->0
+ + | 6+7+8=21—->0U
x |1 5x4=20->TI

Use the shapes from the

1 2 3 board to figure out which
number each symbol

4 5 6 represents. Once you
figure out the numbers,
you can solve the

7 8 9 expression to figure out the

letters and the message.

Stag tuned fOI’ thC next puzzle thiS summer and dOl’l’t fOI’gCt to submit your solution fOI a pl‘iZC!

© 2023 Silverquickcn Education Inc.



